
تمرين - عمليات الجمع

1 - ضع و أنجز: 

6829 + 5232 8048 + 6949 8764 + 4524 3858 + 8075
.. .. .. .. .. .. .. .. .. .. .. .. .. .. .. ..

+ .. .. .. .. + .. .. .. .. + .. .. .. .. + .. .. .. ..

= .. .. .. .. .. = .. .. .. .. .. = .. .. .. .. .. = .. .. .. .. ..

9305 + 6603 6391 + 2599 7631 + 2834 8984 + 5198
.. .. .. .. .. .. .. .. .. .. .. .. .. .. .. ..

+ .. .. .. .. + .. .. .. .. + .. .. .. .. + .. .. .. ..

= .. .. .. .. .. = .. .. .. .. = .. .. .. .. .. = .. .. .. .. ..

3084 + 6980 3558 + 9635 7502 + 4147 4118 + 8520
.. .. .. .. .. .. .. .. .. .. .. .. .. .. .. ..

+ .. .. .. .. + .. .. .. .. + .. .. .. .. + .. .. .. ..

= .. .. .. .. .. = .. .. .. .. .. = .. .. .. .. .. = .. .. .. .. ..

2 - أكمل عمليات الجمع:

5 8 6 8 2 1 .. 1 8 7 .. .. 7 .. .. ..
+ 7 .. .. .. + .. .. 4 .. + 8 .. 8 9 + .. 0 0 5

= .. .. 0 8 1 = 6 4 3 6 = .. .. 0 1 6 = .. 6 1 2 5

.. 2 5 3 3 0 6 5 6 1 7 7 6 6 3 0
+ 7 .. .. 4 + .. .. .. 2 + .. .. .. 0 + .. .. .. 3

= .. 6 7 7 .. = 8 2 5 .. = .. 1 3 0 .. = 9 1 5 ..

.. 6 .. 3 3 4 7 6 .. 9 1 8 3 .. 3 8
+ 6 .. 3 2 + .. .. .. 8 + 9 .. .. 3 + 7 2 .. ..

= 8 9 9 .. = 6 2 7 .. = .. 3 1 0 .. = .. .. 8 4 5
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تصحيح - عمليات الجمع

1 - ضع و أنجز: 

6829 + 5232 8048 + 6949 8764 + 4524 3858 + 8075
6 8 2 9 8 0 4 8 8 7 6 4 3 8 5 8

+ 5 2 3 2 + 6 9 4 9 + 4 5 2 4 + 8 0 7 5

= 1 2 0 6 1 = 1 4 9 9 7 = 1 3 2 8 8 = 1 1 9 3 3

9305 + 6603 6391 + 2599 7631 + 2834 8984 + 5198
9 3 0 5 6 3 9 1 7 6 3 1 8 9 8 4

+ 6 6 0 3 + 2 5 9 9 + 2 8 3 4 + 5 1 9 8

= 1 5 9 0 8 = 8 9 9 0 = 1 0 4 6 5 = 1 4 1 8 2

3084 + 6980 3558 + 9635 7502 + 4147 4118 + 8520
3 0 8 4 3 5 5 8 7 5 0 2 4 1 1 8

+ 6 9 8 0 + 9 6 3 5 + 4 1 4 7 + 8 5 2 0

= 1 0 0 6 4 = 1 3 1 9 3 = 1 1 6 4 9 = 1 2 6 3 8

2 - أكمل عمليات الجمع:

5 8 6 8 2 1 9 1 8 7 2 7 7 1 2 0
+ 7 2 1 3 + 4 2 4 5 + 8 2 8 9 + 9 0 0 5

= 1 3 0 8 1 = 6 4 3 6 = 1 7 0 1 6 = 1 6 1 2 5

9 2 5 3 3 0 6 5 6 1 7 7 6 6 3 0
+ 7 5 2 4 + 5 1 9 2 + 5 1 3 0 + 2 5 2 3

= 1 6 7 7 7 = 8 2 5 7 = 1 1 3 0 7 = 9 1 5 3

2 6 6 3 3 4 7 6 3 9 1 8 3 6 3 8
+ 6 3 3 2 + 2 7 9 8 + 9 1 8 3 + 7 2 0 7

= 8 9 9 5 = 6 2 7 4 = 1 3 1 0 1 = 1 0 8 4 5
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